05591 feskRE , BRI A FMHLF

7= miiEA

ME

MBI

MR T BENER

M 54T o

FEd , AHNSREMER  RAPA (BE),

g
%@%ﬂ&o
;l : —_ BERAZTBER,

TEH.
Rehet , XA PAER | RIRFEERE,
THMEd , e,

BR:

FEfit 7 B 2R M2 = M3,

ZHEFRN 1, ATHRE 6 mm = 12 mm,
ZxRAN 2, ATFHRE 12 £ 20 mm,

)

L 4
o REA

MREIREFN , MRER B4 0.1 mm L EAYEIR.

M4
R ZEH 05592

REET :
1) 4R

D3

H1

© norelem www.norelem.com



05591 feskRE , BRI A FMHLF

BHn BxH kN

D2 D3 D4| H D7|D8| T T1 EIREES # WRHEADF
\ N kN

05591-516 i£] |5 <130 °C

05591-817 R | MHIGHET (8] 17 |18]34(32]28 26 |10 | M3x4 [18|35|6,5/3,4|6| 6-14 90 | 90 | 3,2 2,6 <130°C

05591-823 Rl | WHlEH4T |8 23 [18]34(32(28 26 | 10| M3x4 [18(35|6,5/3,4(12[12-20 90 | 90 | 3,2 2,6 <130°C

05591-5161 T | #HIE4ET [5/15,5(14(25|20(121 19 |6,5| M2x3 |14(26|4,4|24|/6| 610 60 | 60 | 1,8 1,2 <200 °C
B

05591-8171 T | 9HI4H4T |8 17 [18|34(32|28 25,5/10| M3x4 |18(35(6,5(3,4| 6| 6-14 90 | 90 | 3,2 2,6 <200 °C
FW

05591-8231 | MHIE4ET (8] 23 [18[34|32(28 25,5/10 | M3x4 |18(35|6,5(3,4(12/ 1220 90 | 90 | 3,2 2,6 <200 °C
FW

05591-15161 T~ % [5/155(14[25/20(21 19 [6,5| M2x3 |14|26|4,4|2,4(6| 6-10 60 | 60 | 1,8 1,2 <200 °C
BW | WET

05591-18171 T~ 4 (8] 17 [18]34|32]28 25,5(/10| M3x4 [ 18|35|6,5|3,4(6| 6-14 90 | 90 | 3,2 2,6 <200 °C
B | WET

05591-18231 T~ ¥ (8] 23 [18]34(32]28 25,5|/10| M3x4 | 18|35|6,5|3,4(12[{ 12-20 90 | 90 | 3,2 2,6 <200 °C
BW | WET

© norelem www.norelem.com



